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Suggestion (S) .
Instructions / ¥Ueil

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted Physically in prescribed format of suggestion sheet.

(2) Question wise suggestion to be submitted in the prescribed format of Suggestion Sheet
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key, published herewith on the website. Objections should be sent
referring to the Question, Question No. & options of the Master Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet /response sheet. Objections shall not be
considered, in case, if responses given in the answer sheet /response sheet and submitted
suggestions are differed. For the purpose, the candidate shall attach a copy of his
answersheet/ Response sheet along with his application(s).

(6) Objection for each question shall be made on separate Suggestion sheet. Objection for more
than one question in single Suggestion sheet shall not be considered & treated as cancelled.

G edlR «flAs(l Yol Uldel scleil dBel] Avid], el ditl-Uel i 539 23Ld] tla
Qqi2l <&l
(1) GRedIR ditl-Yeil [Hud s #1Ad ditl-yUel Ussefl % salell 2.

(2) GRELAR UHUHIQ ditll-yUell % 5cll A 152 U WA €A [Add ditll-YUel UASell oistlol] %
GuldL 52l

(3) GRLdR UldlA uletHi HAG UsIYRASIHI OUIAE USISHIS Yo ditll-YUetl 3 ot Scll dHIH ditll-
YUl LS U URted 96 Yldoeld iR S| (IR UBUA)oll Ul SHiS Yoyl el d eeiHi
% Sl

(4) HIRe UYL Hi [FER sl w1 (dseu [Rd sl ditl-Yst el AdiHi w414 o1&l

(5) GRLAR B Uslell (A5 U dit] 2% 536 & W [AS@Y 10 B w16 YUAd B A sl GAed R Uld el
GrlRd&lHi A0 €ld] ASA. GAedR YUAd dled wal Grlaelell wdled (@3 &2l dl Ged R %Y
53¢ didl-yUst oAU AdIQ) A&l L &g HI2, GRLAR Uldls{l 1)) 18 Uldlefl adldElsil
W s ol 56s] (01518 50 Le] &2

(6) WS UB HI2 WS % ditll-YUel UsAs dlUd, WS % ditl-yAst UAsH] A sell aul? usils(l 941d 53¢
&2l dl A 2{ell ditl-yst] el A1) A&l



001.

002.

003.

004.

005.

PART - A
D WA 5y [Qa/su Qe a8 ?
1. 1L AU (Satrap) L [Risst 24 R 48 (Lion Capital) &l sid2aL gl
2. [Russ1zinl susinl @541 (Kshakarata) &y (Kshatrapa) d<ls uel Gedv sul €9,
3. ¢usL 24 uaH Aelldl AoAY (Satrap) Sdl FHEL AR BUR AU 54 8.
A1 Y5l uloy [Aseu urie s
@ 3 (B) WA 2 21 3 (C) WAL 1241 3 (D) WAL 1 244 2
laale- wgud Auei (g A1 U4l sy [Qaiysa (sl Aea ) ?

AN

1. 20 AUE, 2 uaH Al a32UdHl ARAQHT 8aL Al oL AULIL HirL 245 214 21u80 Aaagl
o (Shaivite School) gdl.

2. WIgud Aaell BeMa 2 ALRAZHL SLAAASRL vild, 2AA Sl

3. 20 AUE A 519340 Wi (Payar) 2im ydHi iR yHl [Qddl .

[ U uloy [Aseu uRie s2l.

(A) {2t 1 244 2 (B) WA 2 ¢4 3

(C)HA L4 3 @Gz U4 s wa Al

tguR (Dhandusar) Ricndv suoid 2 A4 53 [ / sun Qs aca 9 ?
(A) 2 [Qiendv wigd HM Quidl gdl.

@1 Rrcudv 2 uiga o daru 2 Hisa Ris- wladl-i 8.

(C) (A) du (B) tid

(D) (A) 211 (B) 2A5 urL [

(222t unaonon el [Asiélan ugld suoid Na-u W4 sy [Qa/sa Qa1 8 ?
1. [Aséla ugld 2 Aman wgia ueani ARdacni 2udl,
2. [As8la ugld »i2d 20 dlan ordlmidl 3 sist (dlen) 24 aufl- ws e Gausdl.

3. 9l 2 AgsuAEedl Heedl [P vigdl 2 AcuAs 2l 53 214 [Ansiéla usld e
sudl.

A2 U4 uioy [aseu vaie 3.
(A) 1,23 (B) WA 1 1. 3 @243 (D) WAL 1 244 2

aisti-U RIDdlddin Hed ouoid A UL 5y [Qaun/sa [l ac © ?
(A) dHi Yad o1 11d 20[As sHrl 21 M sl 21a: »udd 9.
(B) d 1907 Hi u8121%0 AR 11 AR SAAAUML AL Sl

@ ~) 2 (B) vin

(D) (A) ¢4 (B) 2As uwt A&
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006.

007.

008.

0009.

010.

Ranzna suasars sueid A1 W4 sy [Aarysa [Qa-l ac 6 ?

1. 9)og1dril ue il H8YA Gariadl e uaH du-l [Auggs Uan gl saumi »udl sdl.

2. e Aq uid Al-2te- [Seauni a0l 2.

3. Meu d ogrLe- Aa-R 3xdu 2l vitdd uAd sul Sdl.

D2l W) uloy [Asey wrie 52

@1 ni2 (B) 1,213 (C) WA 2 244 3 (D) WL 1 244 3

2l WAL 53 you 2 Loy dld sy el ?

(A) buclasii (Balavabodha) — d3RMe (Tarunaprabha)
(B) adid [Aeu (Vasant Vilasa) — didd (Gunvanta)
@2 (Kusumamala) — -uricid eaudAH

(D) uRadl2ig — a2 Fruél

1775 0l YRa-ll A& sueid A0 WS sy [Qa-ysan [l 1 6 ?

1. 2 $AR |- A 11 [BdlaRl adl qa,

2. 0 38 2R, {1l A WAAS (Salsette) AR GLA-L (Bassein) -l uaal G210 yud sul.
3. sast Wid-u uRNe (Council) AL AR =R 4 24 28 1R vl A8 24 dA 2i1-a 2eudl.
21 U wiou [Aseu vrig sl

(A) WA 2 249 3 (B) WA 1 1 2 (C) WA 1241 3 @:. 22113

¥+ agAx US+2loL (Miniature Paintings) ttotd 1A+ WAL 53 [Qeu-y/san [Qaunil aen € ?

1. il el weer vid 21 He-t Anaaddl (H3R) el saHl gHRwo [ gdl.

2. R ALl Wl agls ud-dlaL (Miniature Paintings) 24 11 Hl A2l ‘seuyat’ 21 ‘srasiud
sV B[R 6,

3. % @yl uS-3laL (Miniature Paintings) 24 HIAL 45€ 217 5100 21 GUALL Sl &l

A2 U4 wiou [Aseu vrig sl

(A) WAL 2 241 3 [ ENER, (C) WL 1241 3 (D) 1,213

-~

Al 20 AL AU AHAL AZAAL UH A8 41, Ad %Al

A B
a. dlwdl i. ouldgna
b. wireig ii. n2q (€
c. dUsd iii. or2dd [
d. asiext iv. &o1ad [
A0 U4 wiou [Asey vrie s,
(A) a-ii, b-iii,c-i,d-iv (B)a-ii,b-i,c-iv,d-iii
(©a-i,b-iv,c-iii,d-ii .a—iii,b—ii,c—iv,d—i
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011.

012.

013.

014.

015.

N

Had AYSHIR (Mughal Prince) €121 [R5l 2 GUANEIA .......... allnis 86t 512241 (Persian) Hi Adue
S,

(A) HHI-Ba-t1eil+ (Majma-ul-Bahrain)
(B) wsield-Ga-gxe (Wahadat-ul-Wujud)
@:02-21- 21502 (Sirr-e-Akbar)

(D) Y5\ d-Ga-wii[&u (Safinat-ul-Auliya)

als ddefla viu-nddl Uil aioew (gl Da-umiddl sy [Qa Aed el ?

(A) Aias uRdl A%UAL WAsA Uldidl A8 (Bl sl siaall 25 :dls12a1L 244 d-L
Rena w2 wa suua 59 wiél.

(B) s+ euui [Bidla AR5 [Ames saumi »ud.
(C) (212121 i WA S GALEL G AH 8L AL,
@Gueuid 2is ua AR

AL U 565 e/ wsien Al g1R1L uvHi 2ud) ?

1. ¥ GedloL 4y

2. dell) 2ig

3. 9l YRaw Hn

{21 Y4l a0y [Aseu urie s

@:. 22113 (B) HA 1 1A 2
(C) " 2 211 3 (D) |t 1 244 3

DA Qe Q4L s (Al ues =) ?

1. 84l ALIHi ieidlel AlHNA AidRANIA bigR a3 [As) 8d.
2. UL &Y 3E1HA A0 vl DRILgIR Sl

3. Al Yaus - idl aqed [Qeandls-l yeusid Q) ¢dl.

4. [aain avmz A [Ruguor sulRis a2l gdl.
[ Ul uloy [Aseu uie 52U,

(A) HA 1244 3 @ 1212
(C) AL, 294 3 (D) {12 2, 3 1A 4
1893 Ui .......... AL HEL UR U AHISHT MIOLEAL UL

(A) 2= 4L dlsiA [Sg aHul uidLld s2a.

(B) [Auan yrdon-l Al2s uldaidy 241 d-il A5 £
@1l 2ruoru QAR naRl wean

(D) Gu- U4l 25w [
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~ o\
.

016. 12 UL YouIA ULy d sl

A B
a. delleus Ma i. wireieR
b. 2lu-l U8 & ii. Hiefl
C. uRYAH wi2d» ii. &
d. usieu Ba V. GHIA21R
A2 U4 diou [Aseu vrig sl
(A)a-i b-ii,c-iv, d - iii (B) a-iii, b-i, c-ii,d-iv
@:--ivo-iii,c-ii,d-i (D)a-i,b-iv,c-iii, d - i
017. 1935+ ®1Rd A1+ AARRUH g1 WA A8UL 2idold AL (residuary power) A .......... |
sy 2udl.
(A) ¥a [Qaunaen @z vRa
(C) uilas [Qanue (D) uilds a2

018. dud-l Aolld-des suotd 1A 2uden (Al W s [l aea ¢ ?
1. gl gea 24 siori 2ul2anl aaui Gemady .
2. USIR T L MLATL LURARIAR &AL HIESIHIRL AHSOUA €9,
3. 316l e 2 2l gL 5ol il alis urioia s2ud deu 9,
4, MU W DS A U Id % 53 .
D2l W) uloy [Asey wrie 52

(A) HA 2 214 3 @2 3214

(C) {1 244 2 (D) {1 1, 3314 4
019. 153741 WA it AR (3R .......... 6ieR o 531 dlY

@:- (B) vitdid

(C) M3 (D) RigR

020. A AlScuslan dn-i uldcusil e AIAL 6. 21 You U sul you Al & ?

A B
1. W dlHl s TR RTEL]
2. 48 o154 HdL
3. MR 2L [A. wss
4, Bzaldmq EAUARIH
{21 Y4 a0y [Aseu uris s
(A) WAL 1 14 2 (B) 1A 2 241 4
@124 (D) WA 1, 2 21 3
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021.

022.

023.

024.

025.

424ld (Dharmat) g 4 .......... SERRCKIE
(A) HISHE HIZ) 21 e

@000 21 i Rsis

(C) tUBIR A AS -

(D) 2sHEWS gRAEL A HASIAL

AviAll $AR ouetd AL Wl sy [Qa-y/san [t uea 8l ?

(A) A=l gIRL 5130~ 21 Yrell| dloy a2 sl 2udl.

(B) 2 21240 UL s [das 244 ofew viqd 2 Herarll eyffis eopdl.

(C) (A) aa (B) tid

@~ > (B) visua

Al AN 5 BHY 610U i HURRAU WA AU Sl 2 1A slleist s 530 Al e 24 elq
ud 2t uel @dl dla gdid ......... Sl

(A) YRds (B) %%

(C) yadall - udal @Gur-udl 2is ua Al
Wil cuRdla volnenal sud™z Qe D U4 sy [a/sa [Qa-d a8 ?
1. A9l 2nd@mdly Qv

2. Al 2ud™z Rugia avy.

3. dol asei-l Asulis amogdl 2udl.

4. dl Al 516y 5 yedl d-l 4l 2nawn wRema 52 9.

[l Q5L uloy [Aseu urie s

(A) {2t 1 244 3 (B)MA 1,2 ¢ 3

(C) WAt 2, 3 %1 4 @:. 2324

1935 L (1R U512+ AAMAUA A=A WS 51 2eu-uHl gt 530 ?
1. 2ia S-fla 33

2. il [gypll u ugla

3. Ar24 65 s S=flul

A1 U wiou [Aseu vaig sl

(A) WAt 1 @ 1243

(C) " 2 211 3 (D) 1,243
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026. Headline inflation (83U goual) euetd 1A Ul sy [Qa-y/sa [l Aea © ?

027.

028.

029.

030.

1. MURAML 83 5oUAl 2 BUMISAL MU YAsts (Consumer Price Index), (qysd) (Combined)
GIRL HIYAHE 214 €9,

2. d uiS+2 g uir2 gaudl ddls uL invuy €.

3. d vicid 21[RUR (Volatile) vigl 2im 6101dRL B2 si-l A 5L -l
21 U wiou [Aseu vaig sl

(A) W2 3 (B) WA 1 ¢4 3
@112 (D) 1,244 3

205 uda@ 2019-20 tuerd A1 WA sy [Qarysu [Qa-d uca & ?
1. udael g2 a1l awil-l uasdl axdami 2006-07 €l 2019-20 2141 29% il YHIRL 2L 8.
2. ud 2R Al afler R e ugHH 2as 2 2 sl Hetanl L Ald oird .

3. ugitr &lxL 21 el uid auui 17.9 Uldadn Aysd wlls glgg: (Compound Annual Growth Rate)
(CAGR) alg wl 28] .

A0 U wiou [Aseu vrie s,
(A) 1,243 (B) HiA 2 ¢4 3
(C) st 1 41 3 @112

dAlFdRl 12 AR ols A i &L (Bank deposit insurance cover) 2 Ucls AURELR
3l e ol atndl 3. 5 QL AL 20y 69,

(A) 2 cm @ a

(C) 3cam (D) Gu~u U4l s urL &

Glau £l 612ad 24 Y4 (AR Sieu 9l tuani 2 gl exd yuu s .......... 8.
@Gl 418y Gewe gRiaR (B) Astat-il Al €2

(C) [azsll st Al €2 (D) Nl 4dl/Gewe vl

MIRATL AHAdA suotd 1A 2uud Set-1 1 Set-11 012 AL,

Set-1 Set-11

a. 2ulds alg i. WPI

b. -l %2l (Money Stock) ii. GVA

c. 22 U iii. MZ

d. goudl iv. SENSEX

A2 W4 aiou [Asey urie s2l.

(A)a-i,b-iii,c-ii,d-iv .a—ii,b—iii,c—iv,d—i
(C)a-iv, b -ii, c-iii,d - i (D) a - iii, b - ii, c - iv, d - i
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032.

033.

034.

035.

.......... uRmaL Yartt 518 ulsaat w1saudlui-il s [Ban 12 wal A%usl 40d dl d, d ssaudla we
AR W 534 A[5d, dua.

@i+t 25dls RalA (Current weekly status)
(B) 2wt~ R2ald (Usual status)

(C) adHin B[A5 [RAq (Current daily status)

(D) ad¥ur awls Rald (Current yearly status)

FRBM H[A[Auu ouotd - W4 sy [Qa-y/sa [Qaunl aca 9 ?

1. Nels “URALSU L 2id U513 GDP ~11 0.5 Wldad 3 dell ay 2540l udydl vier 2] sl AS .

2. WA 31, 2019 9l Y21 Act wiA auui 1Syl viter g-u sl AS A,

3. USIR Uels ALY AL vid g4 Aw sl vuel 2 GDP -l 3.3% 5 ddl ay sy gedl gawdl
ASA,

[ U uloy [Aseu uRie s2l.

(A) 1,243 (B) WA 2 ¢4 3

@113 (D) ot 1 244 2

9t (A2l Aa-u W 53 [Aan/sa Qi aer 9 2

1. 921l ARSIR Hed soua-ll €2 (CP1 Combined) 4.15% .

2. [Qznfl2i-l 2101 914 sauql g2 ($u 282 €2) (1 4l 5 Qirwimi) 1.42% 8.
3. GSDP -l -Ruélu v 11.66% €.

{21 Y4l a0y [Aseu urie s

(A) 1,21 3 (B) 1A 2 241 3

(C) =t 1 41 3 @112

JARAAHL ALY vl ... 8.

(A) 225 (B) 234

(C) 242 @Guru a2 wa R

UASARAML SULA 09 {12 WS 565 AL =ll Ad Azl €9 ?

1. 80C - cul5ddld 5 HUFs W2 suld Guaoey, ¢,

2.80CCC - LIC -l 51 unt ailils dlor-uui 354 21 A58 536 254 U Buasy suld
3. 80GG - 61U bildl UL 1% U BUALY sULd

4. 80EE - &85 di-i-il a1y uR Guasy suld

{121 Y4 a0y [Aseu urie s

@12 (B) 1ot 3 A1 4

(C) 1,234 4 (D) H1aL 2, 3 1A 4
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036. duearl g (Balance of payments) il AeMul 1A WSl 585 oueid/s8 cuoidl 2 g vitdwdl
2L 53 €97

1. Trade Balance (uuIR Agd-)

2. Foreign Assets ([agell :iulq)

3. Balance of Invisibles (1£2u dd-)

4. Special drawing rights in the IMF (IMF ui [ Gwis 8s1)
[ U uloy [Aseu uae 521,

(A) 1,2, 3% 4 @103
(C) "1 2, 3911 4 (D) "1 1, 2 1A 4

037. Yo yorui Nla-u Ul sun edidof sMA AR dd Gellar adls sl sul € ?
(A) qand 210 562 SrUl-A 2514, 1999
(B) £9g uulog i
@214 20 seuz Wi, 2000
(D) $ YHIRRU i1, 2000

038. UNDP g1t st 2516 alg Ifomi Qe sl 214 2ulds aladl fellui enay .......... AwYU 21ArU
CORYICICREN
(A) d31d (B) HSIR
@ ciouan (D) sail2s

039. el A Alg (PMAY) ouoid A UL sy [dan-ysan [l aca 6 ?
1. d MURd U512 g1 ad 2025 YL drmA 8612y wsandl uga 9.

2. nundsl 2uai Al (Urban) (PMAY - U) 2 Ministry of Housing and Urban Affairs gl2L
el 2ud €9,

3. vt 2uai Al (ulel A8 PMAY-R) 24 Y14 1% HALAY G611 AAldMi 214 69,
A1 U wiou [Aseu vaie sl

(A) 1,23 @2

(C) " 1244 3 (D) "L 2 241 3

040. dlFdHi NITI 21191 gIRL 61812 WisaMi 2»udel Aspirational district performance (Mscusiall
[rean s1101d1) Sl A1 UL s e 2iag, 2ai Uid s34 69 ?

(A) €181E, A%Ud (B) [Rnsueug, déounu
(C) M3Aadd), ala-ug @514, Guuza
041. sl HARAA .......... A HEEZU Al IRl A 2 2 dflen a3 Y 8d.
@2 100252 (Madagascar) (B) 5~uL (Kenya)
(C) Djibouti (D) Papua New Guinea

[ALY] [PT.O. n
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042.

043.

044.

045.

046.

047.

048.

049.

P

AlFdHL IR Ay 10 ¥4 wldd &l (Wetlands) AR (Ramsar) 220 d?ls 8l sauul
pel 69, 2L AElMl A1 UL 5y a0 uHlde 53 8 ?

1. digR W4 (Nandur Madhameshwar)
2. 12 (Nangal)

3. widdl 2uu (Parvati Agra)

4. AHAUYR (Samaspur)

{21 Y4l a0y [Aseu urie s

(A) 1AL 1, 2 24 3 (B)Hit 1, 311 4

@: 2314 (D) Bur-u Wl s uar &

@uRd-l ®ua-L (Spirit of India) - Goaal Hi 26 4l 31 Myusl, 2020 R MIRA ud 2020 -l
Goyasll s2ami 2udl dg [Auuazg (Theme) .......... 8.

@5 curd 2 cud (B) M1 GUIRA A HlA IR

(C) 291269 HIRcl 2 A MURA (D) Gu-u WSl s yrL &

First GangaVolga Dialogue of Civilizations 2020 (2020+1l 2z4[d- uau 2w aieon daie) 2 [2edl
vild, ALAS QAL 2L UAE A MR A ... a8,

(A) w4l (B) Gooil3eint (C) Sxusa @-Lwu

INS Kavaratti (INS 3a2-l) 21 cudla Al A-id ugiugar {2 daR sa8 9. 21 A6 ...
B{ddld AUR scuni 2udl .

(A) Project P75 @rroject P28

(C) Project P56 (D) Project P100

ad 2018-19 Hi+ll touUd Bewer-l A%AAUR 321 §M 27 vigd s Hanau 611 usilEd saumi
2044 8 Ui WEHUD w1 Sl sauni DA WA suL A% 2] @A U 5234 8 ?

@ vioua 213 sz (B) 301 211 suiles

(C) dlMarug 2q »iRxu (D) 2[R0 211 [Rumsu

MIRA i Glidag el B U900 - vl Ws2 (Ashuganj-Akhaura Project) < yHiRal (Upgrade)
HIZHL 5A BUR SRAIER 534 O, HUWFS2 .......... 18 AeilRa .

(A) W2ld wSuas- (B) A1 wSueS

@:i: i (D) ¥ 182

Transparency International 121 Ust[21d $2aHi »ude Corruption Perception Index 20194i &1
.......... Hi 54 204 9.

(A) 70 @:o (C) 90 (D) 101

World Economic Forum 2A4R (A% GDP L .......... 254 2 ugld v 2uaRa 8.

(A) 20 trillion dollars (B) 30 trillion dollars

(C) 33 trillion dollars @4 trittion dollars

[ALY] [Contd.
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050.

051.

052.

053.

054.

055.

056.

057.

National Amient Air Quality Monitoring Programme (NAMP) 4R MRAY .......... A8 Aldl
ag uglid i1 .......... 28R A i ugMa 6.

@ 12visui R 23 Boumi §easS (Lunglei)

(B) M A 2R 21 aMa-ugui (=il

(C) BrirusAMI Hs 24 HEAUL AU SEIR

(D) d@arugui sidid 21 [BHaansami 31 (Kinnaur)

‘Skoch State of Governance 2019’ A8l AR 22, [21z121L Blof w1 §-1a--1 &AM (Segment)
AR ULAA AR ... A% Vi 2lAY, AL W 52 69,

(A) Red) (B) %22 @: x4 (D) HEIRZ

2 20Ul Bl 2uaR sy Sdlsie: 8 d vl
1. 20 dlsie’ dg AnAHUR Ueel AU vid 26 YL, 2018 U A% AT [ usHi 54,

2. d Hindustan Aeronautics Limited (HAL) gl A+l WE sl 8eflsie © % gHal s Wl
dellsier .

3. d AN 2@l gl oiidd MaH A sdlsies ¢,
A=A WS wiey [Qsey uRie s,
(A) Ads @:- (©) R (D) 4

AlF UL AHIAIRHL 2udd ‘BandiCoot” el [Agl -1 WS sy (At neu e ?
(A) d M1d Alwan Humanoid robot €.

(B) d-tt Guuioy gl-l &4 Uit drelly 2R dulddl $aUHl 2048l

@ vtz 21 o2 B4l s s w2 auri B,

(D) Gua-iL U4l s urL [

.......... 2 42as yrauueudl 8 5 % yd [Raidld acqindl [Rumid 20812 incoming 211 outgoing H2as
21515+ (Rl guidv v .,

@-ireval (B) Anti-virus (C) VPN (D) HTTPS
MR 2aeell ei-iaz aiell AHud (long range) sub-sonic cruise missile % .......... .
(A) Astra .Nirbhay (C) Agni (D) BrahMos

2uyRs cnai2sHial L Q8 Gemdan 2ugdls dd Yyl @al (genetically modified organisms
resulting from modern technology) g12L 2l Add vl 0 Flds dlatuq 28 2uuaL WeHt
weisia A .......... PRETURIE

(A) Montreal protocol (B) Geneva protocol
.Cartagena protocol (D) Stockholm protocol
ISRO U MaH 2agell Walls AR Guas 4 UM ......... 8.

(A) Aryabhata (B) Rohini

(C) INSAT - 1A @~ rrLE

[ALY] [PT.O. n



acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


058.

059.

060.

061.

062.

063.

064.

065.

UL AARAMA ... QiU AU 2 %-H-UR tUsHl microcephaly d 51281 o1l A3 €.

(A) Rota (B) Ebola @:zia (D) H1 Z1

QR code AsEA .......... W2 QUAY 8,

.Quick Response Code (B) Quick Repository Code

(C) Quick Retrieval Code (D) Quick Recorded Code

w1l vidA u-ul v R axgd wldlbior sHa ag e 6. 21wl ......... NEXTEN
(A) AHdd (B) il

(C) tlRailn @104 2aq alRaiin

2a Yl arufdyle 214 wellyl-u dergami adllsd 53¢l 6. wel R ouoid DA W4 sy [Qaun
13 el ?

(A) A2 Uldirl Wikl 2d et 2 Al

@1 2Rui Aydln 2udy Clu B,

(C) dxil 8Ra3eu (Chlorophyll) 4214 €.

(D) a2l 245 il olle oo NidR 3 uS 6.

A2l Wl 54 you v dlou Ad A el ?

(A) @21l E ) ey - 24511 gt (B) [A213fl K L Glawy - ay ugdl 25daua
@20 B26 ) Baw - 6l duey (D) (@2l B6 Al Gawu - Sz (Fits)

N2 W 56 gt uins SlErumnl ARl vt 9l ?

(A) 312 (Rice) @0

(C) neusS 5124 &4 (Skimmed Milk) (D) 831

D WA 5y [Qsuq / s [Qan-il aea 69 ?

1. 5299 2@ A Naawll marsh (nen) aHlA & 3 gl Wél ay Huul &R qd 9.

2. 9o ydaia 2 siuaell il sugu gl 9.

3. oAl Helll A €A ulHn dRs dnay el 11 elaa ulEn [Bau a8 slona D12 2ud ©.

4. [l BgHi 529 enenn ol (Marsh of Kutch) 2 35l 48 22 € i d-ll UR &R+ widou
w3l U2 A3 .

QA Q4 aiou [Asey urie s3U.
@:. 23214 (B) WA 2, 3 244 4 (C) WA 32 4 (D) WAL 1 241 2

ot a-t [Agl A WA 5y [t / s (@l aen €9 ?

1. ant-il g4 [ARaiR WA 378 . (3.3 Al [Ra1R dus Fael 8.

2. %4 1 2194 Al. (3.4 u &ani sdlawu fardl qd .

3. 4 art [ARd1R-1 19% A A[d oue Fadi-u adtui »ud 8.

f2l-u WA uloy [Asey vaie s2.

(A) 1,24 3 (B) HI3L 2 244 3 (C) WA 1 14 3 @12
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066.

067.

068.

0609.

070.

071.

A4 gl tuoid DA WS 53 [ / s [Qal a9 ?

1. A8 (Sei), A1) 244 Al 24 ornpu (31l Guaglai 9.

2. 53100 34 2 AGRHUAL 421 R 80 [3.3L. 1 2id2 Rd 9.

3. Alsd, sud, S1aHdl, v, asts 2 sen (Brui-dl Guaglil o,

A1 U diou [Aseu vaig sl

(A) 1,213 (B) WA 2 i1 3 @113 (D) WaL 1 244 2

ol Rad siullaur Ardlu Geunt ouetd A Ul sy Q- / sun Q- a8 ?
(A) AR FUA &AL Al (L 24 s1oflair Andla Genrt als dilfid sami >uda 6.

(B) 211 Genrt-ll Hi2iedt-l (A1 gRuey(® € Fui 2lsis (iR 21l suan (Prosopsis Chilensis) €. 4L
Beur BUSMS AL A 6,

@1 Geurtni Hera mellil Aust 247 qua Wigieny] wisg (Macaca Mulatta) 8.
(D) Gu-L U4l s uwL [

9l vuleuzfl onld azdl (gl NaA-u WA sy (A / sun Q- uea 9 ?
@2 000 2zl Al azdl A1 48 digsiui 3+l 8.

(B) awndl Fyecuit 9 crgst, 24 Aell ay 2uleanld azdl $+la ©.

(C) Bux+u (A) dal (B) bid

(D) (A) L (B) visugt <l

Rl eg200 (A9l 2w WA 5y (/s Q- a8 ?

1. MR 3 AlEIHA 21 [RsionR da aadlu [gu gl Rl 7516 (54 Al elRa [3uRl v1d ©.
2. cRasl e[ AH A eRumi ay 12 Adlsa wda Y4l [ael ©.

3. Grirel el vilan gel yHld aralds »idr 3214 (51 O.

f2l-u WA uloy [Asey vaie sl

(A) WL 1 249 2 (B) WA 1 1. 3 (C) WA 2 @:. 2213
A2l Wl 53 you v Ulou Ad A 2l ?

(A) &= Ad) (Tons Valley) — Griuvis @149 (Lahaul Valley) — 2urum

(C) Ul adl (Pin Valley) — [8:aa uga (D) Azl 4¢ll (Neora Valley) — ulZau sioun

ogHlnll sueadHi DA WSl sy [Qaqysun (Al a6 ?

1. sturfl ol = 20 ol 2 Gra- Helrl 4 Y (Bt Yot Bsia ueami [@Qadl 6.

2. 5100l gl 2 Al By exum 24 Hlui [Aaun [Qus Bema €.

3. Adl oA : 312 d Hydrated 2a3uHi S1a _UR d Yloll v €.

4. a3vuB ol : 21 ol BauRl (Usara) #Hl- ddls uwl siioeuy 69,

[ U uloy [Aseu uRie s2l.

(A) {2t 1 244 2 @123 (C) " 2 211 3 (D)1,2,3u1 4
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072.

073.

074.

075.

076.

cuRdla Al weudl suotd 1A WAL sy [Qauny/sa [l a6 ?

(A) Brir yd AlHIY, A 2311 uAH vl uln aoeu- dsdl wiest sl A32d 52 6.
(B) £[Era ull Ay uarl 21 6l aensiHi adis ou 8. — 210l Ayg w244 (¢ 1R wu
@~ 211 (B) vin

(D) (A) 21 (B) 2i% uau -l&

QA U suL azel 2 curaui 6w sRoifla ugie1812 FAdl (Tropical evergreen forest) -«
qael ¢ ?

@ ous 971 a0 ergalu Fadl 8.

(B) 98l AlssAU BGHL dH-L ugll viRd) ivi 6.

(C) (A) 21 (B) i

(D) (A) 211 (B) 2A5 urL [

2l WAL sun you/yRHl vy Ad A 8 ?

1. swn —21° C 4l 30° C druir

2. dHlg — 16° C 9l 40° C druuir

3. 5181 — 150 )l 200 AHL. a2

4. 21— ay HIAUHL AU uelal dal Al dra 4addl asl gl

(A) WA 1, 2 21 3 (B) Wi 2, 3 241 4 (C) WA 1241 3 @:. 23214

Dau WA 5y [Qa/sun [l a8 ?
1. x4269¢ 1440 mslds -l Rigia ©.

2. AR R [A34 MR A8 Suul saerd waq (Rule of law) 2 o{iei-l wa Hinv ddls
A saul 2ucl.

3. dlsWEIH URLS dle AHIA YU BRI 8.
QA Q4 aiou [Asey urie s3U.
(A) 1,243 @ 1243 (C) WA 2 244 3 (D) WAL 1 244 2

sinaell (B (Appropriation Bill) 2491 Q-1 W4l suu [l aca € ?
1. d 4192 EuUell U+l ALY AL Al AFELL HIdRN2AL BuRL HAgL Ul ElMA sUMT 2ud 8.

2. sinarll (B (Appropriation Bill) 24 u25121 GURd-L 2§5ld ¢sin (Consolidated Fund of India)
Higfl 241 6181 WL sau-l Al 20l 69,

3. 2 (B yaR sl wlEan 2= weu bl [Bra-n [(BRumi sid 6 ddl o € 244 dell d HsL dlsAueuHl
9 SAU 9.

4. u3d % U1 ALSAMIML UR tigHA L 1A dl AYSd 6165 2 AsU 9.
A0 U iou [Aseu vaig sl

(A) "2 2 14 3 (B) WA 1 ¢4 3
@1 2243 (D)1, 2,31 4
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077. citRella (7341 YaRl) 2llRum, 1992 (Constitution - Seventy Third Amendment Act, 1992)

078.

079.

080.

081.

082.

ouetd A WSl sy (At A el ?

@5 e 2udiort afilazi- 2a-u

(B) oz Y2ell vl yard-dl axun feellzilg daan 529

(C) A% -l 2uaiot-l -l

(D) Yauuasll axis A1l 21 Aldl el grzi uzieoll s1da alsa gl mdl

MURAML Houau viaal [denddl a1 sau s A ..., 9.

(A) =~ d (B) [Qaneu (legislature)

(C) PMO @::icnd

A1 Y4 s yedd 85 861 Right to press Al elid4s (Guaranteed) 24wl € ?
(A) AHLAL 85 @0 217 2zl s
(C) @ar @adl Wi2Hl &5 (D) Guu WSl s yrL e

_uaaL 28502 ouotd A1 UL sy [Qau-y/sa (@l a4l ?

(A) AU A B2 51 A0 82Ldl a3 &

(B) ~unuay 24 12514 oinefla iRl awy sa e s wil as Al
@ ruan A s gl 3 N siuEl s W woleeln ol 530 a3
(D) GuRtl dAxH

cuRdla o{tiRRi 2129¢ 18 (Article 18) 8601 1A WSl sy (At 09 © ?
(A) 4253 v1aan Aalds [ aloudiql s Bl %4 g1RL 2iiad scUHi 2198l (&
(B) G siSuRL RS i (A2l aouui sidunl Bt :dlsi9 A8

(C) 8IS uR Ul5d 3 % UL UARS gl d AR AU Ss0 AsI-lL vl [A2uaql €il 41d (holds
any office of profit or trust under the State) A2 2[‘@\‘{[&'& Hodl (R [@esll o wAd) 518

FBraiet 2dfls124l (&
@Gurn axum

Sl HoAl o onoid A ASL sy [Aaey/sa [Qanl a9 ?

1. H0la sgula-l u2viell Y\ (Pleasure of the President) Si&l 4Rudl a3 6.

2. 4ol wouR 2 Gzl Ul gL [RRd s 2nasl.

3. 40l 5 9 A €9 HIAAL U0 ERAUA UUEL UERA L Sl d Hollue ) sl AlE.
{21 Y4l a0y [Aseu urie s

(A) {1 1 244 2 (B) H1AA 2 ¢4 3
@123 (D)1, 243

[ALY] [PT.O. E
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083.

084.

085.

086.

087.
088.

089.

A% (A1 AHAL AEAA RAIUS s1AA1L He A% [AiuMIL 2180 lgL [l tuotd digdui
AHRURHL 8l 24 200 DA WAL sy [Aan-y/san [Qal acs 697

1. % d AU ABAUA 2 A% [Qenucur sl [Rugs 52 9.

2. R A% [AarA L A8 de/dell-i SigL udl £2 saunl 21 [dien S50 siu R v,
2 A% [Qanueunl vieaa 2an 8 as «ls.

3. ALRAA JRAUS sl U ApA[AtARUAL 28l [Rela 2ildn 24 sidsdl 841,

A2 U diou [Aseu vrie 42l

@13 (B) WA 2 11 3 (C) Wat 1 244 2 (D) WAt 1

w1 (udl =uls Aan (Al India Judicial Service) (A1JS) tuoid DA WSl sy [Qamy/sa (el

AL ?

(A) A1JS il v1Q 2 6{HIRERLAL 4241 YHIREBU 1R1 GHRAUMT Sl

(B) GuRAHE AIJS -l 22411 5L HIZ d A%U WRMELHL 614 611 URd 2A Al Slal A2 Fui 2/3 4] 2A1e9
AlS deu UL 812 WAL AG A 14 A Aol 53¢ Sl AS .

@~ »11 (B) vin

(D) (A) 211 (B) 2A5 urL [

A1 U 5y [Qanqysa [l a9 ?

(A) 31U A5l UL A S AR+ YU duiA A=Al 69,

(B) -l orr2en g2 sl ulan 214 2uaRl sireml aHilde a4

(C) (A) 21 (B) bid

@~ > (B) visuald

-

s AU WRMAL 20 AL 6. A 2uaL ol ARUA A 215 doARY GirilaUHl 20 dl d drdiRuU
AAsn 324 ual ?

(A) 40 2 A @-o i 2

(C) 48 AL Al (D) »uMi 25w él

25 €13dl2 16 [3l/seus-l 33U €ldl a5 8. dl d- 40 {22 Qioll Y& UAIR 5l 524l Ana Qe ?
(A) 5 A5 @ 25

(C) 25 As=3 (D) 2uHid, 215 w1l

5 a3 [Acuasy Al dxin 6 visl qvaaiql aavl seal agl ?
(A) 495 (B) 905
@o+s OEIEERERN

25 a3 31 8,000, 4% A1EL A1 2 At W12 Bl AL € Al del % d % 54 24U A5 6% ALEL 2%

2 ay {12 Gedlru 20U 89, dl A el wlls swel a9 ?

@:. 150 (B) 3L 320
(C) 3. 360 (D) 2uHid, 25 w1l
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090.

091.

092.

093.

094.

095.

096.

097.

098.

099.

100.

P 211 Q 25 514 27 5H 40 241 50 [Banui y3 52 6. oid 518 5 [2an 514 sul oue udld st 1aL Q
A Al 8, di susld 511 Q 524 [Bauuiyg 529 ?

(A) 36 [2axn (B) 40 [2ax

(C) 45 [Rax @iz s wa 4l
gl e [Bad sul AR seld - 81 a5 ?

(A) AR @:ionanr

(C) taaIR (D) s

R Y

ARL AU 4 1 5 2 8 il ARUTRHL 8, Al dull U212 34 8, dl d WS ALl Wil v 6 82l ?
@ (B) 56
(C) 64 (D) 2uHid, 215 w1l

Y nY

0.44 A »yRils A3 @UAH 29 dl d-L 2igL 247 el UAN S2el 29 ?

(A) 32 (B) 34

@:s (D) 39

4913 4 annn s2¢ w9l ?

(A) 13 @

(C) 27 (D) 2uHid, s waL il

s AB[AS eunl ‘COMPUTER’ Al 3d ‘RFUVQNPC’ €id di “MEDICINE’ il 3i5d sl 23l ?
(A) EOJDEJFM (B) EPJEDJIFM

@:=0.0EFMm (D) EOIDJEFM

N DL

25 9150 WRAY snadL M 581, “d 1R HHAL Rl 2540 Yol Yot 8”77, dl d eisi ol
18 suL Aoln dl AAQ & ?

@-.S (B) Wil (C) Wil [R5 (D) 2UHix A5 ual Al

=

A 51 [slami 205 vl 512081 €9 dar d-ll 6] UL HIY A0 8. A d-il 58l HY 6 AH S1u dl
dA-l 14 buogld WY s2¢ sl ?
(A) 33l @323 (C) 6\2aH) (D) 2uHis, 215 uRL Al

A2 Wl e 2 S QA S2dl dstad € ?

6, 21, 38, 27, 43, 52, 30, 37, 5, 75

(A) 1 (B) 0.5 @ (D) 2Mir 315 ugL sl
el siellad vedl 2ivan 56 eai?

3,5,5,19,7,41,9, (?)

(A) 61 @ (C) 69 (D) 79

3L 3x — 4y = 0 1l 2udv 1A WS s [Brguisd vz 29 ?

(A) (3, 4) @:»> (C) (-4, 3) (D) unid, 35 uL el

[ALY] [PT.O.
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PART - B
101. Which of the following statement(s) is/are true for the Sardar Sarovar Project (SSP)?
(i) Sardar Sarovar Dam is the third highest concrete dam in India
(i) Sardar Sarovar Dam is an earthen gravity dam across river Narmada

(iii) SSP comprises 30 Major Dams, 135 Medium Dams and about 3,000 Minor Dams
along the 1,312 km length of the Narmada river.

(A) Only (i) (B) (i) and (ii)
.(i) and (iii) (D) (i), (ii) and (iii)
102. Power generated by Sardar Sarovar Hydro Electric Project (SSHEP) is shared among
the states in the following proportions:
.Madhya Pradesh (57%), Maharashtra (27%) and Gujarat (16%)
(B) Gujarat (57%), Madhya Pradesh (27%) and Maharashtra (16%)
(C) Madhya Pradesh (57%), Maharashtra (16%), Gujarat (16%) and Rajasthan (11%)
(D) Gujarat (57%), Maharashtra (16%), Madhya Pradesh (16%) and Rajasthan (11%)

103. The Gross Storage Capacity of Sardar Sarovar Dam is
(A) 95 Million Cubic Meter (B) 950 Million Cubic Meter
.9,500 Million Cubic Meter (D) 95,000 Million Cubic Meter

104. Which of the following is/are true for the Narmada Main Canal of Sardar Sarovar
Project?

(i) Narmada Main Canal is a contour canal.
(if) Itis the largest lined irrigation canal in the world.
(iii) It has a capacity to flow 40000 cusecs at its head.
(A) Only (i) (B) (i) and (ii)
(C) (i) and (iii) .(i), (ii) and (iii)
105. Which of the following is/are true for Rani ki Vav (Queen’s stepwell)?
(i) Itis astepwell situated in Ahmedabad city in Gujarat state of India.
(ii) Itis designed as an inverted temple highlighting the sanctity of water.
(iii) It has been listed as one of UNESCO's World Heritage Sites since 2014.
(A) (i) and (iii) .(ii) and (iii)
(C) Only (ii) (D) Only (iii)
106. The sculptor for the Statue of Unity is

(A) B. V. Doshi (B) Jatin Das
.Ram Vanji Sutar (D) Anil Manibhai Naik

m [ALY] [Contd.
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107.

108.

109.

110.

111.

Match the ‘Historical Monuments of National Importance in Gujarat’ (List-A) with their
significant feature (List-B)

List-A List-B
(i) |Lothal (v) |one of 7 Wonders of Gujarat and a very old ancient
city of Indus Valley Civilisation
(ii) | Dholavira (vi) |the major ancient city of the Harappan civilisation

and one of the largest sites of Harappan in the
Indian subcontinent

(itf) | Laxmi Vilas Palace | (vii) | known for the best style of Indo-Saracenic Revival
architecture

(iv) | Huzoor Palace (viii) | it looks as if a European palace has been
transplanted on the soil of Porbandar

.(i)-(v), (i1)-(vi), (iii)-(vii), (iv)-(viii) (B) (i)-(v), (ii)-(vi), (iii)-(viii), (iv)-(vii)

(C) (i)-(vi), (i1)-(v), (iii)-(vii), (iv)-(viii) (D) (i)-(vi), (i1)-(v), (iii)-(viii), (iv)-(vii)

Which of the following is/are true for the Sidi Saiyyed Mosque?

(i) The Sidi Saiyyed Mosque built in 1573 is one of the most famous mosques of
Ahmedabad.

(i) The mosque is entirely arcuated.

(iif) The mosque is famous for beautifully carved ten stone latticework windows on the
side and rear arches.

(iv) The latticework windows beautifully display the delicate ‘tree of life’ motif

(A) Only (i) (B) (i) and (ii)

(C) (i), (iii) and (iv) .(i), (i), (iii) and (iv)
Which of the following dam is not located in Gujarat?

(A) Ukai Dam (B) Kadana Dam

(C) Kamleshwar Dam .Mahi Bajaj Sagar Dam

The Kalpasar Project which envisages building a 30 km dam across the Gulf of
Khambat in India for establishing a huge fresh water coastal reservoir for irrigation,
drinking and industrial purposes, will store the water from the rivers namely

.Narmada, Mahi, Dhadhar and Sabarmati
(B) Narmada, Mahi, Dhadhar and Tapi
(C) Narmada, Daman-Ganga, Sabarmati and Ambika

(D) Narmada, Vishvamitri, Rupen, Mahi.

The rock which shows great variation in water yielding capacity is
.Sandstone (B) Granite
(C) Coal (D) Marble

[ALY] [PT.O. m
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112.

113.

114.

115.

116.

117.

118.

119.

120.

The dam would become irrelevant if
(A) the rocks become strong
(B) the rocks become impermeable
.the rocks become porous

(D) the rocks start weathering to a certain extent.

Rocks behave as masses towards operating stresses.

(A) inelastic .elastic (C) isotropic (D) anisotropic
Structures built on will have to withstand greater risk during earthquakes.
(A) solid mass .Ioose soil

(C) strong rocks (D) unfractured land mass

To avoid shearing, dam has to be placed as far as possible from
(A) Joints (B) Folds (C) Intrusions .Faults

In a theodolite, the circular main scale is divided into degrees and each degree is
divided into three parts. If the theodolite is to have a least count of 20", then
main scale divisions are divided into vernier scale divisions

(A) 19, 20 (B) 29, 30 (C) 49, 50 @-o. 0

A metallic tape is made of

(A) Steel

(B) Invar

(C) a composite material of steel and brass

.cloth interwoven with metallic fibres

The area of a plot of land was found to be 1000 m? according to the scale mentioned
in the plan. It was also mentioned that the 20-m chain used for measuring the plot was
1 m too long. The actual area of the plot of land is

(A) 1050.0 (B) 952.4 @ 11025 (D) 907.0

If the slope of aground is 3°, then the gradient can be represented as
(A) 1:3 (B) 1:9 (C) 1:12 ® 110

Normal tension for a tape is defined as the pull
(A) applied by an average adult

(B) applied for standardizing the tape
.which equalizes the effect due to sag

(D) that equalizes the effect due to the slope

[ALY] [Contd.
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121.

122.

123.

124.

125.

126.

127.

128.

Correction due to sag of atapeis

.always positive

(B) always negative

(C) sometimes positive and sometime negative

(D) dependent on the temperature

If the bearing of line AB is N87°32'00"E and that of line BC is S 65°35'20"E, then the
deflection angle between the lines at B is

(A) 21°56'40" (B) 86°52'40" (C) 115°6'40" @ :53°0720"

To change the reading on the circle while measuring an angle
(A) Upper clamp is tightened and lower clamp is loosened
.Upper clamp is loosened and lower clamp is tightened

(C) Both upper and lower clamps are loosened

(D) Both upper and lower clamps are tightened

In the method of reiteration of measuring horizontal angles,

(A) the same angle is measured three times

(B) the same angle is measured by face-left and face-right observations

.the angle is measured and the instrument turned to close the horizon

(D) the angle is measured three times each using face-left and face-right observations

The latitude of alineis

(A) the average latitude in which the lines lie

(B) the projection of the line on the east-west meridian
.the projection of the line on the north-south meridian
(D) the projection of the line with respect to the great circle

If the latitude and departure of a line are 100 m and 45.83 m, then the length of the
lineis
(A) 54.17 m @:.00m (C) 145.83 m (D) 88.9 m

The following set of reading taken with a level: 1.565, 0.985, 1.235, 2.545, 3.455, 1.875,
1.985, 0.865 and 1.285. If the instrument was shifted after the 2"® and the 5™ reading,
then the entries in the foresight column would be

@)o.085, 3.455 and 1.285 (B) 0.985, 1.875 and 1.285
(C) 1.235, 1.985 and 1.285 (D) 1.235, 1.985 and 0.865

A staff is held at a distance of 1000 m from a level. If the reading on the staff is
1.565 m, the reading corrected for curvature is

@1 487m (B) 1.498 m (C) 1.632 m (D) 1.644 m

[ALY] [PT.O. m
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129.

130.

131.

132.

133.

134.

135.

In using the two-theodolite method for setting curves, the principle used is
(A) deflection angle is equal to the tangential angle for any chord to the point
(B) angle of intersection is the same as the angle subtended at the centre

.deflection to any point P from the first tangent is the same as the angle between
the long chord and the direction to P from the second tangent point

(D) equal chords subtend equal angles at the centre

In the case of vertical parabolic curves, the rate of change of gradient is
(A) always negative (B) always positive

(C) zero .constant

Geodetic Surveying is used for

(A) Detailing the topography for a large area
.Getting control points for horizontal control
(C) Finding the elevation of points precisely
(D) Finding the latitude and longitude of points

Triangulation is based on the principle that knowing

(A) three sides, the angles can be calculated precisely

(B) three angles, the sides can be calculated precisely

(C)two sides and one angle, theremaining side and angles can be determined precisely
.one side and three angles, the remaining sides can be calculated precisely

Terrestrial photogrammetry is taking photographs of
(A) the terrain of the earth from a moving aircraft

(B) the terrain of the earth from a static aircraft
.the terrain of the earth from cameras on ground
(D) celestial bodies from a moving aircraft

Overlap in aerial photography refers to

(A) The overlap of ground features due to inclination of cameras

(B) the overlap of ground features due to difference in elevations of objects
.the same ground features taken from two camera positions

(D) the blurring due to lack of focus in photographs

Parallax in aerial photographs is an error due to
.movement of camera and ground relief

(B) overlap in photographs

(C) distortion caused by camera lens

(D) distortion due to lack of focus
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136.

137.

138.

139.

140.

141.

142.

143.

For bridge span less than 9m, IRC Class AA and 70R loading of wheeled vehicle, the
provision for Impact or Dynamic action (in percentage) is

@:- (B) 20 (C) 12 (D) 10
Long span bridge has length

(A) Between 60 m and 120 m (B) Between 120 m and 160 m
.More than 120 m (D) Maore than 600 m

Which of the following class of prestressed concrete bridge attribute to allow flexural
tensile stress without any visible cracking?

(A) Class-4 (B) Class-3 .Class-z (D) Class-1

Bearings are provided in bridges to

(A) allow translation and rotation in bridges

(B) restrict translation and rotation in bridges

(C) transfer forces from sub-structure to super-structure
.allow displacement in vertical and horizontal directions

Which of following code is useful for bridge designing?
@ rc-6 (B) IS: 875, Part-| (C) IS: 3370 (D) IRC-38
Superfluous water refers to

(A) water in the unsaturated zone in excess of hygroscopic and capillary water which
moves over the soil under favourable drainage conditions

(B) water held by surface tension in the capillary spaces and as a continuous film
around the particles

(C) water held in static state with the atmospheric water vapour
.water which drains down so deep that plant roots cannot draw it.

Available moisture in soil can be computed as
.Field capacity — Permanent wilting point
(B) Field capacity — Readily moisture available
(C) Field capacity + Permanent wilting point
(D) Field capacity + Readily moisture available

Crop Water Use Efficiency can be defined as the ratio of

.Yield of crop to the amount of water depleted by crop in evapotranspiration

(B) Yield of crop to the total amount of water used in the field

(C) Water output to water input per yield of crop

(D) Water stored in the root zone of the crops to the water lost due to the

evapotranspiration
[ALY] [PT.0. E
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144.

145.

146.

147.

148.

149.

150.

151.

Well irrigation is a type of

(A) Inundation irrigation (B) Infiltration irrigation

.Lift irrigation (D) Gravity irrigation

The delta of well irrigation is around time(s) that from canal irrigation
(A) 4 (B) 3 ©) 1 @os
The volume of water resulting from a discharge of 1 cumec per day amounts to
@ss.200 m: (B) 8.64 m?

(C) 86,400 hectare-meter (D) 864 hectare-meter

If the moisture tension for a soil is 8 atmospheres, then the soil is at
(A) Field capacity (B) Optimum moisture content

.Permanent wilting point (D) Equivalent moisture

A ground water basin consists of 1 Km? area of plains. The maximum groundwater
fluctuation has been observed to be 1.0 m. What is the available ground water storage
if the specific yield of the basin is 10%?

(A) 10000 m? @) 00000 m? (C) 1000000 m? (D) 10000000 m?

Pygmy water current meter is used for stream-flow measurements

.in shallow streams, flumes and small channels, where the velocity of water does
not exceed 1m/sec.

(B) in rivers and big channels, where the velocity of water does not exceed 1m/sec.

(C) in shallow streams, flumes and small channels, where the velocity of water exceeds
1m/sec.

(D) in rivers and big channels, where the velocity of water exceeds 1m/sec.

The salient limitations of an unlined canal are

(i) Silting of channels (i) Erosion of bed and banks

(iii) Seepage (iv) Breaches in the channel

(A) (i) and (ii) (B) (i) and (iii)

(C) (i), (ii) and (iii) .(i), (i), (iii) and (iv)

The waterlogged soils are rendered infertile because of

(i) Lack of aeration (i) Reduced soil temperature

(iif) Weed growth (iv) Enhanced soil erosion

(A) Only (i) .(i) & (ii) (C) (iii) & (iv) (D) (i), (ii), (iii) & (iv)
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152.

153.

154.

155.

156.

157.

.Discharge plotted on the X-axis, slope on the primary Y-axis while water depth in
the channel & critical velocity V_ on the secondary Y-axis

Garret's diagram used for the design of irrigation channels contains

(B) Discharge plotted on the X-axis, critical velocity V, on the primary Y-axis while
water depth in the channel & slope on the secondary Y-axis

(C) Water depth plotted on the X-axis, slope on the primary Y-axis while Discharge in
the channel & critical velocity V, on the secondary Y-axis

(D) Water depth plotted on the X-axis, critical velocity V_ on the primary Y-axis while
Discharge in the channel & slope on the secondary Y-axis.

Kennedy found the Upper Bari Doab canals
(A) to be the most economical

(B) having the highest specific discharge
(C) having the highest critical velocity ratio

.to be non-silting and non-scouring

The Super Passage is a hydraulic structure

.in which the natural stream passes over the irrigation canal

(B) in which the irrigation canal passes over the natural stream

(C) which carries water from a source to a distribution point far away

(D) which connects two aqueducts

In a canal, a cistern element is designed on the
(A) upstream side of a fall to absorb the shock of the returning wave

(B) upstream side of afall to preventthe damageto the bed and sides due to undesirable
scour

.downstream of a fall to dissipate the kinetic energy and prevent the damage to the
bed and sides due to undesirable scour

(D) downstream of a fall to divert the flow

Which of the following is/are used to reduce the silt entry into the offtaking channel?

(i) King's Vanes (ii) Gibb’s Groyne Wall
(iii) Cantiliver skimming platform (iv) Sluice Escape

(A) Only (i) (B) (i) and (ii)

.(i), (i) and (iii) (D) (i), (i), (iii) and (iv)

Which of the following is probably the most widely used for river training works?
.Spurs (B) Check dams (C) Aqueduct (D) Apron
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158.

159.

160.

161.

162.

163.

164.

165.

166.

Coefficient of Rugosity, as defined by Lacey, is dependent on

(A) grade of the boundary material

(B) density of the boundary material

.grade and density of the boundary material

(D) grade, density and hydraulic mean depth of the boundary material

Silt charge is defined as

(A) average size of silt particles

(B) volume of silt particles flowing with unit volume of water
.weight of silt per unit volume of water

(D) weight of silt per unit discharge of water

The meander pattern of ariver is developed by
(A) average discharge .dominant discharge
(C) maximum discharge (D) critical discharge

plays an important part in completion of the hydrological cycle
.Coriolis Force (B) Frictional Force
(C) Buoyant Force (D) Air-Resistance Force

The total volume of water on Earth is estimated around

@386 billion km® (B) 13.86 billion km?

(C) 138.6 billion km? (D) 1386 billion km?3

Water derived from precipitation (rain and snow) which infiltrates into ground is called
(A) Juvenile Water .Meteoric Water

(C) Connote Water (D) Hygroscopic Water

In all ground water exploration programmes, one of the main objectives is to locate
(A) Wilting Zone (B) Capillary Zone
.Phreatic Water Zone (D) Vadose Zone

Rocks like Basalt, Granite without fissures are examples of
(A) Aquifer (B) Aquitard (C) Aquiclude .Aquifuge

Artesian well is a well which

.does not require a pump to bring water to the surface
(B) requires a pump to bring water to the surface

(C) has the highest specific yield of water

(D) has the highest specific retention of water

[ALY] [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


167.

168.

169.

170.

171.

172.

173.

174.

Which of the following is not a direct method of discharge measurement in a stream?
(A) Velocity area method using current meter

(B) Velocity area methods using floats

(C) Dilution method

.Slope area method

A station rating curve is a graph of
.discharge versus stage for agiven point on a stream, usually at the gauging station
(B) velocity versus stage for a given point on a stream, usually at the gauging station

(C) discharge versus velocity for a given point on a stream, usually at the gauging
station

(D) gauge height versus critical velocity of a stream, usually at the gauging station

Rivers which flow only for ashort time after arainstorm and for rest of the time (usually
most of the time) their beds are dry are called

(A) Intermittent Rivers .Ephemeral Rivers

(C) Gaining Rivers (D) Losing Rivers

The pattern which involves irregular branching of tributary stream in many directions
and at almost any angle in the drainage basin is called

(A) Rectangular (B) Angulate (C) Trellis .Dendritic

Standard Project Flood for the drainage area involved is the flood that

(A) is sure to be equalled in magnitude once or more time in the estimated life of the
project

.is likely to be exceeded in magnitude only at rare occasions in the estimated life of
the project

(C) might occur under the worst meteorological and hydrological conditions in the
estimated life of the project

(D) will occur under standard meteorological conditions in the estimated life of the
project

A flood of certain magnitude has a return period of 25 years. The probability of

exceedance is

@ (B) 12% (C) 16% (D) 32%

The probability ‘P’ of occurrence of aflood in the next ‘n’ successive years is given by
the equation (where p = exceedance probability)

A P=1/1-py ®)P=1-(1+py @P=1-A-pr @©OP=1+1-p)

is used to determine the reservoir capacity required to produce ayield
equal to the average discharge of the stream
.Mass Curve (B) Double Mass Curve

(C) Hydrograph (D) Hyetograph
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175.

176.

177.

178.

179.

Muskingum’s method is connected to which of the following?

(A) Unit Hydrograph

.Flood routing

(C) Design Flood estimation

(D) Infiltration capacity

Which is the correct order for the given materials (samples 10 cm in height) in terms
of their specific strength?

(i) Concrete (25 MPa strength for 10 cm cube; Density 2.40 gm/cm?3)

(ii) Steel (250 MPa strength for 5 cm dia tube, 5 mm thickness; Density 7.85 gm/cm?)
(iii) Bamboo (30 MPa strength for 5 cm dia pole, 5 mm thickness; Density 0.80 gm/cm?)
(iv) Wood (20 MPa strength for 10 cm cube; Density 0.70 gm/cm?)

(A) Concrete > Steel > Bamboo > Wood

(B) Steel > Concrete > Wood > Bamboo

.Steel > Bamboo > Wood > Concrete

(D) Steel > Bamboo > Concrete > Wood

In order that no buckling occurs in a column, the equation of the neutral axis or the

line of zero stress, where ‘e’ and ‘r’ are the eccentricities and radius of gyration of
respective axis, is given by,

@ -crx+Een)y B)1+(E/)X+@ENA)Y

(©) (eX/ryz) X+ (ey/rxz) Y (D) (e /r.?) X + (ey/ryz) Y

If a shaft is simultaneously subjected to torque T/2 and a bending moment of 2M, then
the ratio of maximum bending stress to maximum shear stress will be

(A) 4MIT @:vir (C) 4T/M (D) 8T/M

In which of the following cases, there exists the situation of Pure Bending in some part
of the beam or along the entire beam?

(i) Asimply supported beam subjected to two equally spaced downward concentrated
loads

(i) A simply supported beam subjected to two equally spaced opposite moments
(iii) A cantilever beam subjected to clockwise moment at free end

(iv) An overhanging beam with both side equal overhangs subjected to different
concentrated loads at both the free ends

(A) (i) and (iv) (B) (i), (ii) and (iv)
@ ). i) and (i) (D) (i) and (i)
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180.

181.

182.

183.

184.

185.

186.

For a triangular cross section having horizontal base, Ratio of shear stress at mid-
height of the section to shear stress at neutral axis of the section is

(A) 3/4 (B) 8/9 @-:s (D) 4/3

Value of Elastic Section Modulus for the given section about horizontal centroidal
axis is
60 mm

60 mm
(A) 5000000 (B) 2560000 (C) 100000 @)s-000

If the ratio of two principal stresses is ¥z, what is the ratio of minimum principal stress
to maximum shear stress?

(A) 1/2 (B) 1 @: (D) 4

If Mohr’s circle for two dimensional stress system has zero radius, both principal
stresses are

.of equal magnitude and of same sign

(B) of equal magnitude and of opposite sign

(C) equal to zero and shear stress is non-zero

(D) equal to zero and shear stress is also equal to zero

For an elastic material having Modulus of Elasticity E, Shear Modulus G and Bulk
Modulus K, which of the following can possibly be true?

(A) G=K @c=-=« (C) E=G (D) G=2K
Alongthincylindrical shellis subjected to internal pressure. Theratio of circumferential
stress to longitudinal stress is

(A) 0.5 (B) 0.75 (C) 1.0 @:o

A cantilever beam of span L is subjected to uniformly varying load having value of w
kN/m at the free end and 0 kN/m at the fixed end. The magnitude of slope of shear force

diagram at the fixed end is the magnitude of the slope of shear force
diagram at the free end.

(A) same as .Iess than

(C) w times more than (D) wL/2 times more than
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187.

188.

189.

190.

191.

192.

193.

A propped cantilever beam of span L is subjected to Uniformly Distributed Load
of w kKN/m throughout the span. What is the distance of Point of Contraflexure from
the Fixed end?

(A) 0.175L @o s (C) 0.33L (D) 0.375L

A simply supported beam of span L, width B and depth D is subjected to a rolling
concentrated load of magnitude W. The maximum flexural stress developed at the
section L/4 distance from the end support is

(A) (3WL)/(4BD?) (B) (AWL)/(3BD?) @ owL)8BD?) (D) (8WL)/(9BD?)

A train of four wheel loads 30 kN, 10 kN, 20 kN and 40 kN (distance between each
sequential wheel is 1 m) is passing in the given order leading with 30 kN, from right
to left on a simply supported girder of 10 m span. Which of these wheel loads should
be placed at the section 2m from the left side support, to produce Maximum Bending
Moment at that section?

(A) 10 kN (B) 20 kN @:okn (D) 40 kN

While using Clapeyron’s Theorem of Three Moments, a fixed end of a continuous
beam is replaced by an additional span of

.infinite stiffness (B) zero stiffness

(C) infinite length (D) infinite moment

Number of zero force members in the truss subjected to a force as shown in the
figureis

Q o—>»

B i

(A)0 (B) 1 @: (D) 3

In the moment distribution method, the distribution factor for the end span, on the
fixed end side is

@ (B) 1/4 (C) 1/2 (D) 1

A cantilever beam PQ of length L m and cross-section BxD mm?is subjected to UDL of
w kN/m throughout the span. Another cantilever beam RS (made-up of same material)
of length 2L m and cross-section 2Bx2D mm?is subjected to same amount of UDL
throughout the span. What is the ratio of deflection at the ‘free end’ for beam PQ to
that of beam RS?

@: (B) 8 (C) 1/2 (D) 1/8
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194. An overhanging beam, having same overhangs of length L/2 on both the sides, is
subjected to clockwise moment M on the left side free end and anticlockwise moment
M on theright side free end. What is the deflection at midpoint of the beam, if distance
between the supports is L? (Take Flexural Rigidity of beam = EI)

(A) Zero (B) ML?/2E| @ viLsEl (D) ML%/9V3EI

195. What is the Total, External and Internal indeterminacy of the structure shown below?

Hinge\f\A

T A
.Total 1; External 2; Internal (-1) (B) Total 1; External 2; Internal (1)
(C) Total 2; External 1; Internal (1) (D) Total 2; External 1; Internal (-1)

196. Which of the following is a correct bending moment diagram of the structure shown

el ..n|||||\||\||HHHHW’””““|H||llnnu...

-

© L\ (D) None
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197. What is the moment at joint F, in a case where there is no side sway and the member
CFis along the axis of symmetry while a UDL of W kN/m is applied all along the length
BD as shown in the figure?

T

B C D

A F E

TIIT TIIT TITT
(A) WL3/48 EI (B) WL3/384 ElI
.O (D) None of the above

198. Which is the most appropriate method to analyze the structure shown below ?
P,
60° 920° 45°
s

(A) Slope Deflection method (B) Stiffness method
(C) Flexibility method .Strain Energy Method

199. The shear force diagram for a simple supported beam of span L is given in the figure.
The maximum bending moment is
I

1
“—>

w + 1,

A
v

(A) WL (B) WL/2 @, (D) WI /2

E [ALY] [Contd.
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200.

201.

202.

203.

204.

205.

A prismatic beam is shown in the figure given below:

Consider the following statements:

(i) The structure is unstable

(i) The bending moment is zero at support and internal hinge

(iii) It is a mechanism

(iv) It is statically indeterminate

Which of these statements are correct?

.i,iiand iii (B) i, i, iii and iv (C)iand ii (D) iii and iv
Cables supporting roadway of a suspension bridge is designed to carry

(A) Point load (B) Trapezoidal load
.Uniformly distributed load (D) Load as per cable profile

Which of the following criteria is not considered under Limit State of Serviceability?
.Fatigue (B) Vibration Limit

(C) Durability consideration (D) Fire Resistance

Which type of cross-section can attain yield moment but not the plastic moment before
failure by plate buckling?

(A) Plastic section (B) Compact section

.Semi-compact section (D) Slender section

Tensile strength of single unequal angle section is calculated as per 1S-800:2007 for
two cases: 1) longer leg is connected to gusset plate, 2) shorter leg is connected to
gusset plate.

Which of the strength will be same in both the cases?
(A) Design strength due to Rupture of Critical Section
.Design strength due to Yielding of Gross Section
(C) Design strength due to Block Shear

(D) None of the above

What is the value of Partial Safety Factor for Shop Fabricated Welds?
(A) 1.10 (B) 1.20 @:.2 (D) 1.50
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206.

207.

208.

2009.

210.

211.

212.

Which of the following statements are correct, with respect to wind load analysis as
per 1S:875 (Part 3)?

(i) For a given basic wind speed, the value of Risk Coefficient k, decreases if the
mean probable design life of structure in years is increased.

(i) Value of factor k, decreases, if the category of structure changes from Category 1
to Category 4.

(iif) When upwind slope is less than 3°, the value of Topography factor k, may be
taken as 1.

(A) (i) and (i) @ i) and i) (C) (i) and (i) (D) (i), (i) and (iii)

Of the following four sections, which section has the maximum Plastic Modulus?

(A) ISMB250 @ sHB250 (C) ISWB250 (D) ISLB250

In an eccentric connection, when the axis of load is lying in the plane of bolted joint,
the bolts are subjected to

.only shear stresses (B) only tensile stresses

(C) both tensile and shear stresses (D) tensile, shear and bending stresses

Due to the flexibility of the connected plates under tension, an additional force is
induced in the bolts. This phenomenon is known as

(A) unbuttoning (B) shear lag

(C) Bauschinger effect .prying action

Which of the following failures of bolted joint can be avoided by providing sufficient
edge distance?

(A) Bearing failure of bolt (B) Shear failure of bolt

.Shear failure of plate (D) Tensile failure of plate

Which of the following conditions is to be satisfied in Elastic Analysis as well as Plastic
Analysis?

(A) Yield condition (B) Mechanism condition

.Equilibrium condition (D) Plastic moment condition

As per 1S:800-2007, what is the permissible bearing pressure between the base plate
and the support below?

(A)0.40f, (B) 0.45f, (C)0.50f, @osor,
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213.

214.

215.

216.

217.

Equal angles star section shown in the figure is designed as a compression member.
Governing axis of the section is

(A) x-x B)y-y .u-u (D) v-v

¥12mm
V — | — ’u

In the case of structural steel sections (in terms of their outstanding length), the
minimum ratio of thickness of elements in compression is specified to prevent

(A) Bending failure (B) Shear failure

.Local buckling (D) Tension failure

An electric pole 5m high is fixed into the foundation. It carries a wire at the top and is
free to move sideways. The effective length of the pole is

(A)3.25m @:n (C)5m (D) 10 m

The allowable shear stress in stiffened webs of mild steel beams decreases with
(A) Decrease in spacing of the stiffeners

.Increase in spacing of the stiffeners

(C) Decreases in the effective depth

(D) Increase in the effective depth

In a plate girder bridge, the thickness of web is less than d/200 where d is the
unsupported depth of web. The web plate should be provided with

(A) Vertical stiffeners

(B) Horizontal stiffeners

(C) End stiffeners

.Both vertical and horizontal stiffeners
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218.

219.

220.

221.

222.

223.

224,

Which one of the following forces is used for the design of battens of a builtup column?
(A) Axial load (B) Twisting moment
(C) Vertical shear .Transverse shear

The design strength of a tension member is given by a minimum of

(i) Block shear strength of end region

(i) Rupture of critical section

(iii) Yielding of net section

Which of the above statement(s) is/are correct?

(A) Only (i) @) and (i) (C) (i) and (i) (D) (i), (i) and (iii)

If only a sway mechanism is possible in the frame given below, what will be the plastic
moment M developed?
40kN

20KN 2m 1 2m
3m 6m
T
T
(A) 10 KNm (B) 20 kNm @0 knm (D) 80 kNm

In limit state design, the permissible bond stress in case of the deformed bars is more
than that in plain bars by

(A) 25% (B) 40% @sox (D) 70%

The cover of longitudinal reinforcing bar in a beam subjected to sea spray should not
be less than which one of the following?

(A) 25 mm (B) 40 mm @ 0omm (D) 90 mm

Side face reinforcement is provided in a beam when the depth of web section exceeds
(A) 250 mm (B) 400 mm (C) 500 mm @750 mm

Minimum shear reinforcement in beams is provided in the form of stirrups
(A) to resist the extra shear force due to live load

(B) to resist the effect of shrinkage of concrete

.to resist the principal tension

(D) to resist the shear cracks at the bottom of beam
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225.

226.

227.

228.

229.

230.

A T-beam behaves as a rectangular beam of width equal to its flange if its neutral axis
(A) Coincides with centroid of reinforcement

(B) Coincides with centroid of T section

.Remains within the flange

(D) Remains in the web

Which of the following statements is/are true for a natural building material like
bamboo during an earthquake?

(i) It will result in a flexible structure, however needs to be designed stiff enough to
resist earthquake forces

(ii) Since it has a good specific strength (MPa/kg), the earthquake resistance is better

(iii) Being light in weight, it will experience lesser earthquake forces

(A) Only (i) (B) (i) and (ii) (C) (ii) and (iii) @ ). (i) and ii)

In a reinforced concrete section, as the percentage of steel increases

(A) the depth of neutral axis decreases

.the depth of neutral axis increases

(C) the lever arm increases

(D) both depth of the neutral axis and the lever arm decreases

If the permissible compressive and tensile stresses in a singly reinforced beam are
20 MPa and 250 MPa respectively, and if the neutral axis depth is limited to 0.3 times

the effective depth of the section, then the percentage area of the steel required for an
economic section is

(A) 0.56% (B) 0.76% (C) 0.86% @o.o5%

Effective moment of inertia for short term deflection of a reinforced concrete section
does not depend on

(A) the maximum moment under the service load

(B) depth of the neutral axis

(C) breadth of the compression face

.ultimate shrinkage strain of concrete.

The striping time for the Reinforced Concrete slab spanning less than 4.5 m and using
fly ash as an admixture should be

(A) 7 days .10 days (C) 14 days (D) 21 days
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231. Which of the following statement(s) is/are incorrect?
(i) Earliest start of an activity is the early event time of the node it leaves.
(ii) Latest finish of an activity is the late event time of the node it enters.

(iii) Latest start of an activity is its latest finish minus its duration.

(A) Only (i) (B) (i) and (ii) (C) (i) and (iii) .None

232. If an activity has its optimistic, most likely and pessimistic times as 2, 4 and 9
respectively, then its expected time and variance are and respectively.
(A) 4.5 and 7/6 (B) 7 and 49/36 @:5and4936  (D)7and 7/6

233. Figure below shows the network for a particular project which consists of four

activities.

Normal time and crash time for each activity are given below:

Activity Normal time (days) Crash time (days)
1-2 3 2
2-3 4 2
2-4 5 4
3-4 7 5
The minimum time required for the completion of project is
@o days (B) 13 days (C) 14 days (D) 19 days

234. The minimum diameter and depth of a soak pit should be kept respectively as

(A) 2.0 feet and 3 feet (B) 2.5 feet and 4 feet
.3.0 feet and 5 feet (D) 3.5 feet and 6 feet

235. In building, the fans are usually fitted at what height above the floor level?
(A) 7 feet (B) 8 feet @o reet (D) 10 feet

236. In building work, the cost for internal electrification, sanitary and water supply works
is around.
(A) 10% of estimated cost of building. (B) 15% of estimated cost of building.
.20% of estimated cost of building. (D) 25% of estimated cost of building.
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237. Inrateanalysis, for 100 cubic meter mixed mortar the sum total volume of dry ingredient
materials may be taken as

(A) 115 cubic meter .125 cubic meter
(C) 152 cubic meter (D) 160 cubic meter.

238. For mortgage purpose, the mortgage value of property is taken as
.1/2 to 2/3 of the valuation or capitalized value
(B) 2/5 to 2/3 of the valuation or capitalized value
(C) 1/3 to 2/3 of the valuation or capitalized value
(D) 1/4 to 3/4 of the valuation or capitalized value.

239. Slack time refers to

(A) an activity

.an event

(C) both event and activity

(D) none of the above.

240. Site order book is used for
.recording the instructions of the executive engineer
(B) recording the constructions measurements
(C) issuing the requisition requests for materials
(D) maintaining the record of the ordered instruments and materials.
241. A metal body floats at the interface of water and oil (sp. gr. =0.85) such that 35% of its
volume is submerged in water and 65% in oil. The density of metal would be
(A) 852.5 kg/m? (B) 912.5 kg/m?
.902.5 kg/m?3 (D) Cannot be determined.

242. A pipe carrying water tapers from cross section 0.5 m? at Ato 0.2 m? at B. The average
velocity at A is 2 m/s and pressure is 500 kN/m? (gauge). If the frictional losses are
negligible, then pressure at B, which is 5 m above the level of A, would be (assume,
gravity acceleration as 10 m/s? and unit weight of water as 10 kN/m?3)

(A) 532 kN/m? (B) 405.5 KN/m? @+39.5 kN/m? (D) 388.2 kN/m?

243. A fluid field is given by, U = xyi + 3yzj — (2yz + z?) k + 3t.
The acceleration in z direction at point (1, 2, 4) would be
(A) 184 unit @102 unit (C) 204 unit (D) zero
244, For laminar flow in a pipe of radius 0.9 m, the point of maximum instability would
occur at a distance of from the center of pipe cross section.
(A) 0.60 m (B) 0.15m .0.30 m (D) Cannot say
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245.

246.

247.

248.

249.

250.

251.

252.

A trapezoidal channel has a bottom width of 6 m and side slope of 1:1. The
depth of flow is 2 m at a discharge of 24 m3s. What would be the specific energy
(take, g = 10 m/s?)?

(A) 2.61 m (B) 1.00 m (C)2.91 m @:1m

The sequent depth ratio of a hydraulic jump in arectangular channel is 12. What would
be the corresponding Froude number at the beginning of the jump?

(A) 4.42 @s s (C) 3.26 (D) 9.54

At 100°C of temperature, 3.5 atm vapour pressure of water is equivalent to
(A) 350.0000 kPa (B) 312.9815 kPa .354.6375 kPa (D) 304.2590 kPa

Change in boundary layer from laminar to turbulent is directly affected by
(i) Roughness of plate

(ii) Pressure gradient

(iii) Intensity of turbulence

(iv) Velocity of flow

Which of the above mentioned option(s) is/are incorrect?

(A) (i) and (i) (B) (ii) and (iv) (C) Only (i) @ony (v

Dynamic similarity exists when the model and the prototype have the same
(A) Length scale ratio and time scale ratio

(B) Length scale ratio and velocity scale ratio

(C) Length scale ratio, time scale ratio and velocity scale ratio

.Length scale ratio, velocity scale ratio and force scale ratio

The Darcy law relating to mean velocity and hydraulic gradient in a porous medium is
applicable to

.Iaminar regime flow only (B) transition regime flow only
(C) turbulent regime flow only (D) flow of all fluids in all regimes of flow

When compared to a streamlined body, a bluff body will have
(A) More pressure drag and more friction drag

.More pressure drag and less friction drag

(C) Less pressure drag and more friction drag

(D) Less pressure drag and less friction drag

The line of action of the buoyant force acts through the

(A) centroid of the volume of any floating body

.centroid of the displaced volume of fluid

(C) centroid of the horizontal projection of the body

(D) centre of gravity of any submerged body
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253.

254,

255.

256.

257.

258.

259.

260.

261.

262.

is an imaginary line drawn through a flowing fluid in such a way that
the tangent to it at any point gives the direction of the velocity of flow at that point

(A) Vortex line .Stream line (C) Streak line (D) Path line

If the Froude number of a hydraulic jump in a horizontal rectangular channel is 4.2,
then the jump can be classified as

(A) undular jump .oscillating jump (C) weak jump (D) steady jump

The pressure coefficient is the ratio of pressure forces to
(A) Gravity forces (B) Viscous forces .Inertia forces (D) Buoyant forces

Aturbineis called as a ‘Reaction Turbine’ if at the inlet of turbine the water possesses
(A) Kinetic energy (B) Pressure energy
.Kinetic energy and Pressure energy (D) Kinetic energy and Potential energy

High lift multi-stage centrifugal pumps work against a head of

(A) <15 m (B) 15—20m (C) 20— 40 m @-:0m

If V. "is the velocity of jet atinlet and ‘u’ is the Tangential velocity of vane, for maximum
efficiency of Pelton Wheel the condition is

(A)u=V, /4 @.-v./2 C)u=V, (D)2u =V,

If the overall efficiency of a Pelton Turbine is 65% and its Mechanical efficiency is 80%,
then its Hydraulic efficiency would be?

@s1.25% (B) 55.25% (C) 75.25% (D) 85.25%
In Sardar Sarovar dam, around 80% of the total power is generated using
.Francis Turbine (B) Kaplan Turbine

(C) Pelton Turbine (D) Gravity Turbine

Smith's test of stones is performed to find out
.the presence of soluble matter of stone
(B) the compressive strength of the stone

(C) the hardness of the stone

(D) the toughness of the stone

In stone masonry, the stones are placed in such away that their natural bedding plane
is

(A) parallel to the direction of pressure they carry
.normal to the direction of pressure they carry
(C) at 45° to the direction of pressure they carry
(D) at 60° to the direction of pressure they carry
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263.

264.

265.

266.

267.

268.

269.

270.

271.

Following compounds can be used as accelerators except

(A) CaCl, @caso, (C) NaCl (D) Na,SO,
The minimum compressive strength of first class bricks should be

(A) 5 N/mm? (B) 7.5 N/mm? @0 Nnimm2 (D) 12.5 N/mm?
Aerated concrete is produced by addition of

(A) copper sulphate .aluminum powder

(C) sodium silicate (D) zinc silicate

Which of the following impurities in the mixing water is destructive for concrete?

(A) calcium chloride .Iead nitrate

(C) alkalies (D) algae

The total number of test strength of samples required to constitute an acceptable

record for calculation of standard deviation for each grade of concrete shall not be
less than

(A) 15 (B) 21 (C) 28 @-o

Concrete mix proportioning guidelines are given by
(A) IS 875(Part-1) — 1987 (B) IS 456-2000
@ s 10262-2009 (D) IS 800-2007

The ratio of compressive strength of fully saturated material to that of same material
when dry is called

(A) Load factor (B) Compaction factor
(C) Coefficient of hardness .Coefficient of softening

Air entrainment Portland Cement

(i) offers great resistance to sulphate attack

(i) offers great resistance to freezing and thawing

(iii) reduces the possibility of shrinkage and crack formation in the concrete surface

(iv) is suitable for mass concreting

(A) Only (i) (B) (i) and (ii)
.(i), (i) and (iii) (D) (i), (ii), (iii) and (iv)
Soils which are formed by the decomposition of rocks are called as
(A) Alluvial soils .Lateritic soils

(C) Desert soils (D) Black Cotton soils

[ALY] [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


272.

273.

274.

275.

276.

277.

278.

279.

280.

Sedimentary deposits consisting of alternate thin layers of silt and clay are called as
(A) Dispersive clays (B) Expansive clays
(C) Clacareous clays .Varved clays

In soil, the value of which of the following can be more than 100%?

(i) Air Content (if) Water Content
(iii) Void Ratio (iv) Porosity

(A) Only (i) (B) (i) and (ii)
.(ii) and (iii) (D) (ii), (iii) and (iv)

A soil has a bulk density of 20 kN/m?® and water content of 25%. The dry density of the
soil would be

(A) 26.7 kN/m? (B) 18.0 kN/m? @ 16.0 kn/m? (D) 15.0 kN/m?

In a soil mass, if the volume of voids is equal to the volume of solids then the values
of porosity and void ratio respectively are

@o5and 10 (B) 1.0 and 0.5 (C) 0.0 and 1.0 (D) 0.5 and 0.0
A pycnometer is used to determine which of the following?

(i) Specific Gravity (ii) Moisture Content

(iii) Dry Density (iv) Void Ratio

(A) Only (i) .(i) and (ii)

(©) (i), (ii) and (iii) (D) (i), (ii), (iii) and (iv)

For a well graded soil, the value of coefficient of curvature lies between
@ (B) 3-5 (C) 5-7 (D) 7-11
If ‘A’ =the maximum void ratio of the soil in the loosest condition, ‘B’ is the minimum

void ratio of the soil in the densest condition and ‘C’ is the void ratio in the natural
state, then the relative density is given by

@~-0/nn-B (B) (A—B)/(A-C)
C)B-C)/(B-A) D)B-A)/(B-C)

If the permeability of a soil is 0.8 mm / sec, the type of soil is
(A) Gravel @sand (C) Silt (D) Clay

Plastic limit is the water content

(A) mixed in the soil to make it plastic

(B) removed from the soil to make it plastic

.below which the soil stops behaving as a plastic material
(D) above which the soil stops behaving as a plastic material
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281.

282.

283.

284.

285.

286.

287.

Flow index is

.the rate at which a soil mass loses its shear strength with an increase in water
content

(B) the rate at which a soil mass gains its shear strength with an increase in water
content

(C) the rate at which a soil mass loses its shear strength with a decrease in water
content

(D) the rate at which a soil mass gains its shear strength with a decrease in water
content

If the liquid limit of soil is 25%, plastic limit is 15% and flow index is 12.5%, then its
toughness index is

(A) 50% (B) 60% (C) 70% @so%
In a Plasticity Chart, A-Line separates

.Clays from Silt (B) Clays from Sand

(C) Silt from Organic soils (D) Silt from Gravel

Which of the following soil structure is possible for cohesionless soils?

(i) Single grained structure (i) Honey-Comb structure
(iii) Flocculated structure (iv) Dispersed structure
(A) Only (i) .(i) and (ii) (C) (i), (iii) and (iv) (D) (i), (iii) and (iv)

Hydrostatic pressure on the phreatic line within a dam section
(A) gradually decreases

(B) is less than atmospheric pressure

.is equal to atmospheric pressure

(D) is greater than atmospheric pressure

Arrange the bearing capacities of shallow foundation in descending order (from
highest to lowest)

(i) Ultimate Bearing Capacity (if) Net Ultimate Bearing Capacity
(iii) Net Safe Bearing Capacity (iv) Gross Safe Bearing Capacity
@) ). (v). i) (B) (1), (i), (iii), (iv)
(C) (i), (), (iii), (iv) (D) (i), (i), (iv), (iii)

Who made the assumption that ‘a strip footing placed on the ground surface sinks
vertically downwards into the soil at failure’?

(A) Rankine (B) Hogentogler .Prandtl (D) Terzaghi
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288.

289.

290.

291.

292.

293.

294.

295.

296.

For a sand having an internal friction of 30°, the ratio of active to passive lateral earth
pressure will be

(A) 9 (B) 1 (C) 1/3 @--

Proctor test is performed on the soil for
(A) grain size analysis

(B) assessing its shear strength

(C) assessing its bearing capacity
.assessing its degree of compaction

In a plate load test on a sandy soil, the test plate of 60 cm x 60 cm undergoes a
settlement of 5 mm at a pressure of 12 x 10*N/m2. What will be the expected settlement
of 3m x 3m footing under the same pressure?

@-°nm (B) 15 mm (C) 20 mm (D) 25 mm

Two footings, one circular and the other square, are founded on the surface of a purely
cohesionless soil. The diameter of the circular footing is the same as that of the side
of the square footing. The ratio of the ultimate bearing capacity of the square footing
to the circular footing will be

(A) 0.75 (B) 1.00 @::3 (D) 1.50
Standard Penetration Test is carried out on which type of soils?
.Cohesionless Soils (B) Medium Clays

(C) Gravely Soils (D) Very Stiff Clays

The Dilatancy Correction for the Penetration Number (N) in case of silty fine sands
when the observed value of N exceeds 15 is (N, is the recorded value and N is the
corrected value)

(A)N_= 15 + % (N_ + 15) @\.-15+% (N, -15)
(C)N.=15-% (N, + 15) (D) N.=15-% (N, - 15)
A 30 cm diameter friction pile is embedded 10 m into a homogenous consolidated
deposit. Unitadhesion developed between clay and pile shaftis 4 t/m?and the adhesion

factor is 0.7. If the factor of safety to be adopted is 3.0, then what would be safe load
carrying capacity of the friction pile?

(A) 26.4 1 (B) 13.3 t (C) 10.5 1 @sst

Minimum centre to centre spacing of friction piles of diameter (D) is

(A) 2D @:»o (C) 4D (D)5 D

The load carrying capacity of an individual friction pile is 100 kN. What is the total load
carrying capacity of a group of 9 such piles with a group efficiency factor of 0.8?

(A) 1125 kN (B) 900 kN @720 kn (D) 680 kN
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297.

298.

299.

300.

Which of the following piles should be used when weak foundation soil is to be
compacted?

@ sand Piles (B) Friction Piles

(C) Pedestal Piles (D) End bearing Piles

Pressuremeter test is performed on the site to measure which property of the soil?
(A) Skin Friction .Shear Modulus

(C) Modulus of subgrade reaction (D) Relative density

The soils most susceptible to liquefaction are

(A) Saturated dense sands

.Saturated fine and medium sands of uniform particle size
(C) Saturated clays of uniform size

(D) Saturated gravels and cobbles

Rise of water table in cohesionless soils upto ground surface reduces the net ultimate
bearing capacity approximately by

(A) 10% (B) 25% @0 (D) 75%
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